
NSN 5340-01-601-7513
Mechanic Equipment Hardware Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/5340-01-601-7513

End Application:

Mrap rg33 base/haga

Component Quantity:

5

Supply Items And Quantities:

4 each bolts,  1/2 inch - 13 x 1 - 3/8 inch p/n 1087-060-0026-00;  2 each bolts,  3/8 inch - 16 x 1 - 38 inch,  p/n 1087-060-0024-00;  8 each

bolts,  3/8 inch - 16 x 1 inch,  p/n 1087-060-0051-00;  10 each lock washers,  3/8 inch,  p/n 1087-060-0035-00;  10 each flat fender washers, 

3/8 inch,  1 - 1/4 inch diameter

Product Name:

Hardware - front light bar bracket

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

